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1. EERELIMHS A= (15%)
Y'-4y+dy =0, p(0)=0, y'(0)=-3

05 0 -05
2. F#f Gauss-Jordan YH AR A = | -0.1 02 0.3 |MIS4ERE (15%)
05 0 -15
31 4
3. FEHHIA=10 2 6 EREIIE (eigenvalues) MHEATRFTIE (eigenvectors) - Wi —(EaHEE T
0 0 5

D =T AT FEFAERM (20%)

— - EEE (BEE 3Es5 )

L FEURR D 4y = x BT ? (AYER W (First Order) BT, (YRS
(Non-homogeneous ) /3 5522, (CYEZHH4 /52, (Ordinary Differential Equation )
DYEWEBMER y=x-1+Ce™ (B)x ZJEBH (Dependent Variable) s y 2 E##% (Independent
Variable )

2. TWEI%‘%? = x Zi8f# (General Solution) ? (A)y=x (B)y=-x (C)y=-x+C
X

2

(D)y:%w (E)y=x+C
3. B4lsinx dx+cosydy=0 ~ y(0)=0 - HIEAEE T ? (A)cosx—siny=1 (B)cosx—siny=—1
(C)sinx—cosy=1 (D)sinx—cosy=-1 (E)LL FEIE

4. B f (1) 2 Laplace IR FHE © (A) L‘f(r)e“dr (B) L‘ f()e“dr (C) f f(r)dr
(D) j f(e)erde @®) [ f(t)edr
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S. JRBEIMe” & Taplace IS * (A) +a ®)
(E)EL L3k

6. gz Laplace SME#ESHES (A (B)F  (C)sins  (D)cost E)u(t-6)
s
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7 TSR R AT RIERER ? (AR A58 B 2P BES 4-B=|A|Bsine  He 05 A - B

ZHF BNOEA=—T+7+2k W B=7+2]+k ZHfF /4 (C)AxB=Bx i

(D)4 B|=|4||Blsing » Hrf0F4 - Bizskfm (B)4B=0H A0 - B0 » BIA - BIAFS

8 #E f(nyz)=xsin(yz) - a=%f~%i +~J%/€ + B FHIALITE B aaA ?

(A)Vf (x,3,2) =sin(y*z)7 +2xpz cos (»z)j+m’cos(y'z)k  (B)VF(3,1,0)=3k

(C)D, f(x,3,2)=Vf (x,y,z)i =%sin(yzz:)~igxyzcos(yzz)+—\/lg xy? cos(yzz)
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D)D f(1,-1,0)=— EYD 7(1,-1,0)=-=—

( ) uf( ) \/g ( ) lff( ) 6

9 Ef(x)=x —m<x<a > f(x+27t)=f(X) » QTR BIBRRS f (x) B2 3EREY (Fourier Series )
£ () =224 3 (, cosmr-+ b, sinx) Hhiz (F8a, ~ a, ~ b, BRI FRE ?

3 4 . 2 4 n
(Aa,=7m !a',:?(—l) » b, =0 (B)aoxgn ’an:?(—l) » b =0

(C)a():%zrz va, =0 b”:%(—l)" (D)a0:§ﬁ2 ; a;%(—l)" 0 b, =0
2 i J— 4
(E)a, :§7r2 ' a, :;(—1) ' b, =

10, THIPGTERR 2 (A)i* =i B)z=a+ibWHITESEEIRZ =a-ib (CVEH z=a+ibUEY
EEFR |2 =|a+ib|=Va*-b* (D)e” =cosO+isind (E)e™ =cosO—isind




